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Problem 1[image: ]
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Problem 3
If [image: |x - 2| = p], where [image: x < 2], then [image: x - p =]
[image: \mathrm{(A) \ -2 } \qquad \mathrm{(B) \ 2 } \qquad \mathrm{(C) \ 2-2p } \qquad \mathrm{(D) \ 2p-2 } \qquad \mathrm{(E) \ |2p-...]
[bookmark: _GoBack]Problem 4
The sides of a triangle with positive area have lengths [image: 4], [image: 6], and [image: x]. The sides of a second triangle with positive area have lengths [image: 4], [image: 6], and [image: y]. What is the smallest positive number that is not a possible value of [image: |x-y|]? 
[image: \mathrm{(A)}\ 2 \qquad\mathrm{(B)}\ 4 \qquad\mathrm{(C)}\ 6 \qquad\mathrm{(D)}\ 8 \qquad\mathrm{(E)}\ 10]
Problem 5
Two different prime numbers between [image: 4]and [image: 18]are chosen. When their sum is subtracted from their product, which of the following numbers could be obtained? 
[image: \mathrm{(A)}\ 21 \qquad\mathrm{(B)}\ 60 \qquad\mathrm{(C)}\ 119 \qquad\mathrm{(D)}\ 180 \qquad\mathrm{(E)}\ 231]
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The sum of two numbers is S. Suppose 3 is added to each number and then each of the resulting numbers
is doubled. What is the sum of the final two numbers?

(A)25+3 (B)35+2 (C)35+6 (D)2S+6 (E)25+12
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Let P(n) and S(n) denote the product and the sum, respectively, of the digits of the integer n. For
example, P(23) = 6 and S(23) = 5. Suppose N is a two-digit number such that N = P(N) + S(N).
What is the units digit of N7

@2 @3 (@©6 @8 (B9




image17.png
The mean of three numbers is 10 more than the least of the numbers and 15 less than the greatest. The
median of the three numbers is 5. What is their sum?
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A telephone number has the form ABC-DEF-GHLJ, where each letter represents a different digit. The

digits in each part of the number are in decreasing order; thatis, A > B >C, D > E > F, and
G >H>1I>J. Furthermore, D, E, and F are consecutive even digits; G, H, I, and J are
consecutive odd digits; and A+ B +C = 9. Find A.
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Which of the cones listed below can be formed from a 252° sector of a circle of radius 10 by aligning the
two straight sides?

(A) A cone with slant height of 10 and radius 6
(B) A cone with height of 10 and radius 6
(C) A cone with slant height of 10 and radius 7
(D) A cone with height of 10 and radius 7
(E) A cone with slant height of 10 and radius 8
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f()

Let f be a function satisfying f(zy) = for all positive real numbers z and y. 1f £(500) = 3, what is

the value of f(600)?
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The plane is tiled by congruent squares and congruent pentagons as indicated. The percent of the plane
that is enclosed by the pentagons is closest to

(4)50 ([@)s2 ()54 (D)S6  (E) S8
!
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A box contains exactly five chips, three red and two white. Chips are randomly removed one at a time
without replacement until all the red chips are drawn or all the white chips are drawn. What is the
probability that the last chip drawn is white?
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Four positive integers a, b, ¢, and d have a product of 8! and satisfy:

What is a — d?

(A4

(B)6

©s

ab+a+b=>524
be+b+c=146
ed+c+d=104

D)1 ()12




image24.png
Problem 1.1. Show that foralla, b,c >0,

a® + b +* > ab +ac + be)
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What is the maximum number for the possible points of intersection of a circle and a triangle?
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Each day, Jenny ate  of the jellybeans that were in her jar at the beginning of that day. At the end of  the second day,  remained. How many jellybeans were in the jar originally?       
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